March 13, 2019

" Math 115 )
Spring 2019
\ Lecture 22

?at+bl=Cp
Vs mx%é)d,: rt

Foctor ComP\eh\a : A8
© 1\ 232 +517<83 @Kz(%—%—lb(?c-%.)

{mcf('x?’ +3@J (x-3) (K =19

e ) o]
®) 2% 30 -\X
- 2 'XZ '—_\\X -30

3 2
@w 10X —%
) P--60
= (56X /%)*2(\5/{/—\/"\) SER 2

1,60 3 _

r B 5x-\2X -3
:i(fsx (X" +23] o300 AT

220 (zxae) 6O

M \S o

{%/L’Ti—%j Sx v9)(x-96)|




March 13, 2019

Yoactew < om?\ejﬂ\‘d‘. Alwars Ao GCF Rvst
©® DX -\SX © 'X&@ﬂxwﬁw
:\‘57((2% ~3) ~(x—10)(X7 ATx 46)

D) 3% -300 \ox3 - 6
:5(95’—\00) P--0 :x(\oxz X ~6)

2 e S--1\ \’\/
~23(x° - 10) s
O 5% ey b

12 (X 1O (X HD\ See last
shade 5y (2xx1) -6

X (2x +DOX -6)

EO‘C+0{ out The GCF, hew Sactov Fhe vest
& possible \9\3 veing AAE, N-®) NAB, ov

B

& 2,&32 -2(x"16) @4x X 108
2_4°) —L\(x «aﬂ

- >y 3 \

[ Ge v -9 (XJ&XX 23X *C\)'

(17) 5x - 5000X @ 25 (5% ) 16K
= Sx(x° — 1000) - (5x-3)(25x" -3V
5x( ¢ —10) _ (5x-9) (6x -9 YS9

:@‘358@ X S]

150 (x =10 )X 4 10% +10D)




March 13, 2019

%dw ou¥ JV\\kG/Q‘F/ Thew Sactov COW\\D\QJYQ\\(
- possivle:
3 2 4 3 2
@) 14X~ A -10% D I0M 20" -30wm
: 2
:TX(ZX + X ~\O> :\Dmaé%ma~2m—3

PS:;/iO %{ o Y \\/

- J S=2 "oy

4§59 A Hxx5x —10
& -~ L‘é_(j (gm’Z/*L\m_Em_B
27(( )*5( ) - ——

Yom (2w -3 (2man)]

Class Quiz: Rox Yooy Sivia\l Ang.
Factor Cowmpletaly
) 20X 120 A x4 -
Jioex «39) @
" —x —30 7+ e
J(x —6)(x +5) R




March 13, 2019

Ze‘f\o_ S’qc‘kor /P“O‘?'QF*J |
1 AR=0, then A=0 or B=0
or both may be O
Solve (x=9)(3x+5)=0
Bu Z.FP =» x—-%5=0 oy 2X¥5=0
Kus=0 @ 3x=-5
LHS wmust
be n ‘FacjraveC‘ -S
;Co\rm. 3/
%o\VQ

N (x—1)(x +2)=0
By ZFP X1=0 oY Xy2=0 z
=l [x=—2] Z/Wg
2) (% —10)( x A10)=0
B‘a £ PR. X-10=0 ©°V¥ X ¥10=0 %:\;‘O}

=D

2 (Ax 1) Bx «10)=0
Ba Z.F.F 4x-1=0 ov  3x+10=0

—
IX=1 SX\O 0 3__\2 /1}
G-1) X=5) e




March 13, 2019

Make BHS=0, Sactor e LttS Complekely, Then
Sole.

2 N G\
(D X~ +3X +2=0 @ x*=24-5x

(?C*l)(?(+a>zo XZ_QHG:C)X =0
Now \0\5 Zr.7 I
X4\=0 or Xx2=0

x=-2 | (x «%)(X-3)$O

=1
U R

X= < 'X:B

31«%,3

USQ zQY“O’S_O\C&O‘/ PY\OY). 16

Xy sx —24=0

@98-2‘5?% = axt-2 :G_\SX
Fo25-19570 311_§SX:Q
v =100 =0 2T AdX —2=0
- 10 =0 Gx - D(x+2)=0
(x ﬁ\o)/(vmo):O BY zZEP
\36 Z .5 -Y 3)(~1:D OR ~x32=0

X/\OZO ORC %'HO;O

\ xX=-2
X=%

g th)K 1-2/ %];




March 13, 2019

DiS‘\‘v‘f\DU\‘Q/ ¥o(\/ S\mP\\'Q\:}/ 'ﬁ\en Solwe !
2x (x <) = (@xeDOr vy
3 TA3Y S 2%k 2x ADBX XD

Solve 3 o\ Woad |
(2x +>)(3x ) =25 A
68 A4x AT A6 —2520 Simphiy

6?(2 A 13x —19=0

(x = L)+ =0 E\i
By Z-F.r.
X-1=0  &x+15=0

x=1 —EL




March 13, 2019

o
Avean oS « YQCJYON\f)\)\O\\/ yoom S 30 §$1<©

s \ef\ﬁ)ﬁ/\ ts LSt \OV\SQ\/ J‘/\’\OLV\ o w‘C\ﬂ"

\\ Ovaw é\\o\\oe\

A=30% |x
2) Sind s Alwmensions
A =30 XA
LW =20 By TPR
x(x A1) =30 XX¥6=0 X—5=0
yx -30=0 L X=5

+ -5)=0

. 22
Aveo. oY o Tec\'&\(\su\mv room s 2% w~.

The \e,ng))f\r\ s A oy er than  Twrce s
IR\

\\ Dvaw 5,\ label \ H:Z%W\?_ X
) SmA e Kvmewisiovs. 2%

Lw = 2 oyt —x —2%=0

'X(Zx—i) =2% W P=-56

BY ¢ F-F ~-56 %\:/1
4=0 nz-%
PXAT=0 o7 X E 2X N X —$X  -2%=0




March 13, 2019

The Sum oS SEVenes oY Two Cons. tntegers

'S zs.p\& X, xAL
SW\A Q*\\ SUC\'\ 2

2_ _
X~y (x+1) =25

N -
Qo{vy\\ie:;j\:s e 7(1 A (x Jvi\)O( 4v1>>25
By € TP Wk ax vl 2520
=g OR x3=0 2% y2x —24=0
x=-4 =3 Divide by &

XEAX \2=0
(x4 (%3 )=0

§mA FTwo Consecutive Quewn ’\v\Jrecaevs with
-
ook 48 k» |
Produc 4% ox Ex a2
s
X (x+2)="%
X | X42
,XL 42X _4=0 <\l _¢
(%—e)(kﬁ)sg
by Z.F.P
X—L=0 AT =0
X =6 X=-%
Sov Wwrsday  wore on DG 15 16




March 13, 2019

O?Q\(\ Af\ojfes @Ui% (BOX \(OW Sir\a\ O\V\S>

2X-3=0 X+20=0 —ZO’%E
x=3 X=-20

(3 Solve x-S =40 f(xﬂ)(xﬂ\,o

Q) Sawe (ZX—°>\)(7< +20>:O gv

x*—\40=0 Q=0  X-1=0
YU =0 Y=-1  X=T

304
@So\ve 2x” ~x \X =9, 93480 3( 1 o
ot A\ — 170 Y e
e e Py




